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CHEMISTRY

BOOKS - CENGAGE CHEMISTRY (HINGLISH)

GRIGNARD REAGENTS AND ORGANOMETALLIC
REAGENTS

1. Explain why organocopper and organocadmium reagents react

with less reactive acid chlorides even though they do not reacts

with more reactive ketones.

o View Text Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_vfx6hfTostIa
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2. The reaction of R’ — |C|' — Cl with RyCulLi or R,Cd gives a
ketone, but with RMgX it gives a 3° alcohol.

(a) Explain why RMgX reaction does not give ketone.

(b) Account for the difference in behaviour of RMgX and RyCulLi
or R,(Cd.

( ¢) What is the relationship between the reactivity of the

organometallic compound and activity of the metal ?

o Watch Video Solution

3. Explain or complete the following reactions.

®
S _OH/H

i B CH,OH/McO ><‘7 __(fi__————-) A

. S O

(i)

o Watch Video Solution



https://dl.doubtnut.com/l/_IPYvXCrEXF0X
https://dl.doubtnut.com/l/_fRLcP0VFxSQv

4. Synthesise the following :

(a) Benzyl alcohol from G. R.

(b) 2-Methyl-2-phenyl propanol from G. R.

( ¢) 2-Cyclopropyl ethanol from G. R.

(d) a-Phenyl ethanol from MeMgl.

( e) 2-Butanol from acetaldehyde

(f) Triphenyl methanol from benzophenone
(g) a, a-Diphenyl ethanol from acetophenone

(h) 1-Cyclopropyl-1-phenyl ethanol from PhMgBr.

. O —MeMg] -HOH,
Me
M
i O+ (CH,),CHMgl HOH 5

(i)

o Watch Video Solution



https://dl.doubtnut.com/l/_kdJrCDcSL6ii

5. Complete the following reactions :

[
(a) 2MeMgBr + CdCly — (A) 22~ (B) + (0)

0
I
' DPhC s
A 2MeMeBr o+ CdCL — (A) B+ (O
O
I
8 I THE A _
[‘\J\ + MeMeBr EAIN )
) Vi (k) 2 HO"
0\ 0 A0 N o
. . L
Gy (H)
I
MgBr
d. NH N Me/\/ _I;_IELA_)(L)
Me 2. H,0%
- (K)
Cl
e. /\_(CHQ)X—CEN +Me, CuLi———5(0)

2.HO
(i) THE. A

&

(it) H,0

O (M) l(n)McMgBr (N)

(P)

0 . I.THF, A
f /”\@/VMC + EtzCULl :_—}{—05_>(S)
. Ci 3

@ l e 8

(i) THF. A
i D
i) H,0

()


https://dl.doubtnut.com/l/_9g6Y7onGtHob

\ CH I M - Culi
— M u
g / ( 2)4 O et M )

. M B
M oM
(ii) THF. & - ,
(iii) H,0 LIRS W)
2 HO
(b) X)
o Watch Video Solution
6. Complete the following reactions :
o
I
1.Li Ph—C—Cl
@ (4) — (B) L (©)
i— BuBr 2-Cul
c. =~_—C=N + PhMgBr I.THZ)A ()
(F) (G) 2.H,0
e @)
. X0 O
q + PhCH,MgBr  — T[HOF LTRE A (N)
2 2 8,
(L) “No, "
(b)
/S\/K
.2 eq. Bulh
. ™M —— (e
PP (D) © e 0®
O
d. C\\/\\\C\ - MC,ZC\}X_;\ L TRE A @\
2. \xo
) O

(o


https://dl.doubtnut.com/l/_9g6Y7onGtHob
https://dl.doubtnut.com/l/_UVL7IMts2Wc8

(d) Lo
(e) e,

o Watch Video Solution

7. Complete the following reactions :

. H,0
». m,/\/( by Mg + €O, (B)
(A)
'l
HO
b. Me/k/\Me + Mg + C02 —2 0))
(©)
Me Me
¢ Cl

+Mg + CO, HO S (F)


https://dl.doubtnut.com/l/_UVL7IMts2Wc8
https://dl.doubtnut.com/l/_1wwk6u7PmaMJ

d. PhCl+ Mg +CO, _ﬂz‘i_)(}_l)

(&)
Me Mg + COZ/Hz()
g SO /H, o> ()
e. Ph/\/kCl — Ms T SO
Mec g 3/H20 (K)

0 W, (L)
(M

f. trans-4-Chloro methyl cyclohexane +M
b

(N)
2
2. Me Mg + CO,/m,0 \K’((),
AN Mg + SO >
— Mg + SO,/HLG > (Q)
.__"\N
Br | Me +SO/H,0 7 (R)

|2 T BOy/H,0
(P) e TS0 )
(T)

- Fiher, A ; .
. - L, ————— 3 Ny o
h. RMgBr+ CO; .0 Valeric acig

() (V)
i. RMgBr+CO, —" % Caproic acig
(W) . (X)
Br H.0
i B Mz —— (2
(b) (Y)
H>0
(d) PhCl + Mg + CO, — (H)
(G)
H>0
(f) trans-4-Chloro methyl cyclohexane + Mg + COy — (O)
(N)
(g)
Ether, A
(h) RMgBr + COy —— Valericacid.
(U) HoI (V)
. FEther, A . .
(i) RMgBr + COy —— Claproicacid.
(W) H0 (X)

| o Watch Video Solution


https://dl.doubtnut.com/l/_1wwk6u7PmaMJ

8. Identify the products.

O .
o 5 I mol of
0 ' OEt McMgBr> (B) 1 mol of (©)
HO s 3 I McMgBr
(A) 0)
Ethyl-6-hydroxy-4-oxo- H,0Y 2 mol of
hcexanoate (E) < (D) < McMgBr

° Watch Video Solution



https://dl.doubtnut.com/l/_1wwk6u7PmaMJ
https://dl.doubtnut.com/l/_AZSchKP2Iaeo

9. Complete the following reactions :

Cl, + FeCly NBS Mg .
a. Me—@ —a (A)—> B)— 7> (C)

Toluene l Ethylcne oxide
2. H;0®
(D)
Q)
b. thCd
Cl ether, A (A)
Cyclopentylmethanoyl
chloride

Br, + FeB Mg, 1.0, A
. @ 0TS (A) > (B) s> (©)

dark cther, A ;
1. 0,, at — 70°C
2. H;0®

(D)
d.
i
Ether, A
Me /\/Mg Br + CZH 5——0‘——C——O——C2H5 -—ﬁ;a—ea') (A)
Propyl- Diethyl
magnesium bromide carbonate
I
A
e. Me S—Cl + Me -~ OH —> (4)
" Propanol
O Me
p-Tolucne sulphonyl chloride ¢ > Mg Br
Me
cther, A (B)


https://dl.doubtnut.com/l/_Zeodh9gMmPAp

(2) Why cannot be G. R or lithium organometallic compounds of

‘Br
= —H

prepared ?
o Watch Video Solution
10. Complete the following reactions :
c.
2 )y ) » T
3 cther.
1.3-Butadicne Mg, \

H- + Ni Conc. H,SO, (i) Methyi propanoate
& € < 0)
(F) (E)e— I,0 (D)< ather. 2, 1,0

(a)


https://dl.doubtnut.com/l/_Zeodh9gMmPAp
https://dl.doubtnut.com/l/_H0xdWtCZMaDn

; I Me .
k< 4 Me MeBr Ether, A

(b) A ) () + (D)

° Watch Video Solution

Solved Examples

A1203 (1) HI R
(A) 555> (B)(CsHio) wagon > (©)

T (1) BoHe | T Al O3 I

e o
(ii) H20, OH 150°C

(A) and (C) are isomers, (B) can be obtainedn by the products of

the reactions of EtMgBr and acetone


https://dl.doubtnut.com/l/_H0xdWtCZMaDn
https://dl.doubtnut.com/l/_nZ8eSHAQWNtm

Me
Me

structures of (A4), (B), and (C).

. Give the

o Watch Video Solution



https://dl.doubtnut.com/l/_nZ8eSHAQWNtm

2. Two different G. R.(A) and (B) give the product (X)

Me

Ph OH
\ Me /

with (C) and (D) respectively. Give the structures of (A4), (B), (C)

on reaction

and (D).

o Watch Video Solution



https://dl.doubtnut.com/l/_Jc0GWaVWLkRj

Anhydrous ZnC'l,
conc. HCTCL:T)
o Does not react apprecrg.

Lucas reagent
bly at room temperature

Ammoniacal AgNQ), .
—> White precipitate (B)

(1) 15 1 Pt

(11) Boiling with cxcess ]

\ 4
n-Pentane
3.

A sample of 0.42gm os (A) with excess of MeMgBr gives 224ml of
CHy(g) at S.T.P Give the structure of (A) and write the

equations involved.

o View Text Solution

4.|dentify the structures of (A) to (D).

(A)
Excessof HCl Mg C (i) Ethyl acetate
+Benzoyl B) dryether ~ (©) (ii) H;0% D)
peroxide

o Watch Video Solution



https://dl.doubtnut.com/l/_JaZySaD2Se2l
https://dl.doubtnut.com/l/_DUtXCaEbBcy9

5.Identify (A) to (F') and mark the C* carbon in the entire scheme

CaC*J'O;; + H,80, — (A)(gas)[C* denotesC'].

(i)Mg/THF _ LiAIH, HBr
avd Br (i) A(gas) = © > (D) ¢

(B) (i) H;0®

° Watch Video Solution

6. Identify (A) to (C).

Br
(i)Mg/THF 1mol of
(ii)Ethane (B) HBr ©

(A) (i) H;0®

o Watch Video Solution



https://dl.doubtnut.com/l/_ttpOFEXo6M1g
https://dl.doubtnut.com/l/_lM1GKP49Q2nb

7.1dentify (A) to (E).

Me
DA

— MeMgBr
H,+ N \
Mel, D) —parpaso, (E)

o Watch Video Solution

8.1dentify (A) to (E).

Me
NBS alc. PhCO;H
——>(B) —W(C) —3 3 (D)
(A) l.PhMgBrl
2. H;0

(E)

o Watch Video Solution



https://dl.doubtnut.com/l/_J4T2npBrkRlc
https://dl.doubtnut.com/l/_QnvIFi3dXtDv

9.1dentify (A) to (D).

Ester A (C;H,,0,) + 2MeMgBr—="2 Alcohol B
-3
(C4H,,0)

Conc. H:S()4

D (CH0) <20 C(C.H,,y

° Watch Video Solution

O

N '\R + M MgBr

0. Me

How would the ratio of products change if.

(i) R = Et


https://dl.doubtnut.com/l/_JXPqM8TET98S
https://dl.doubtnut.com/l/_vp9zTkRtX6Qm

ii. or (iso-Pr)
Me
(ii)
M
iii. M& Z> ) or +-Bu

(iii)

° Watch Video Solution

CHDZI——)—-)————) D)/\

(A) (B)

“H, © + D

Major Minor

11. Convert

o Watch Video Solution



https://dl.doubtnut.com/l/_vp9zTkRtX6Qm
https://dl.doubtnut.com/l/_wxLgXmPDJPbb

12. Starting with

: OH

t9

M

(Propanol)

N
Me O

(ethanol). Prepare pent — 2 — e # using G. R. Is there more than

and

one way ? If so, which is the best and why ?

o Watch Video Solution



https://dl.doubtnut.com/l/_QuOCn8HBWiZm

13. Complete the following reaction using G. R and any other

compound.
o Me
Me)K/MC — Me
e
(A) (B) Br
o Watch Video Solution
14. Complete the following reactions :
Me .00
b.COo, + »—Li—=— (C)
(A) Me (B)

, > (E)

. Me (ii) H;0©
MgBr

(a)



https://dl.doubtnut.com/l/_zJj6sdEOHEUd
https://dl.doubtnut.com/l/_K372E9TII9WS

Me H:0°
d. CH,=C=0+ >——MgBr — ()

M
(A) ©B

‘ (i) >_L‘

>(O)—="——> (E)
Me

>‘—" 1
Me
(D)

(b)

0 1) Me

(
M. McBr (B)
. Me>/| Me e

M o > (O)
M¢ > i) H;0
¢ (A) ¢ (1) H;

> (E)
(i) Me

(i) H;09
}— Ly,
M

“Me
(D)

(o

& Ethane nitrile > (0)
(A) (i) n-C4HyMgBr, (ii) H;0®

(B)

, > (E
(i) n-C4HoLi, (ii) H;0©@ (E)
(D)
(d)


https://dl.doubtnut.com/l/_K372E9TII9WS

o Watch Video Solution

15. Convert the following reactions by using G. R.

a Mo B M{\K\Mc

Mc¢
c. Isopropanol to Me>-NH2

(a)

° Watch Video Solution

Exercises (Subjective )


https://dl.doubtnut.com/l/_K372E9TII9WS
https://dl.doubtnut.com/l/_ricMAFQQ93jT

Me MgBr

o Watch Video Solution

MgCl

]
2. Ph—C c1+20 H;0

o Watch Video Solution

Mgl
3. Q ZX H3O®

3.


https://dl.doubtnut.com/l/_Y6H2OAXce3U7
https://dl.doubtnut.com/l/_h4YmnhmY5it6
https://dl.doubtnut.com/l/_ujGhP8zgOpcl

o Watch Video Solution

OH

} MeBr PB
4. E/ ,CI'O} !'3 BA

[6) C<
H;0 CH3COOH
B < Mg/cther‘

° Watch Video Solution

Me hv HM
. g/ether
5. NV + Br, > A (i D0 >B

° Watch Video Solution



https://dl.doubtnut.com/l/_ujGhP8zgOpcl
https://dl.doubtnut.com/l/_eicQ4IjaeKGL
https://dl.doubtnut.com/l/_v4y69pIS5ChX

Me
hv (1) Mg/ether
6. Me>_H+Br2 > A—iteicte g
Me
6.

° Watch Video Solution

7. B¢ (i)_MCMgg T Acrolein — 225 A
(i) H;0

° Watch Video Solution



https://dl.doubtnut.com/l/_tis0RFWm1L7N
https://dl.doubtnut.com/l/_IG2BT6wOxRFc

8. a. + NBS s A—DMeg/ether g
(i1)CO, /H;0®

b HB Ne (i) Mg/ ether D
- A/ +HBr (ii)CO, /H;0® ~

8.(a)
Cl

'H,CH
Mg/ether SE CH3C@O N:
H,0

C.
Br

d OzN@‘Br Mg/ether%G
(b)

O
(e) PhMgBr —— ?
H30°®

(f) Phenol + RMgl — 7.

o Watch Video Solution



https://dl.doubtnut.com/l/_skTJ8j5lJ8qG

(i) Mg, ether _ HBr
(i) CO,/H;0® ~ Peroxide

(i) Li, cther

HBr 3

A

B
(ii) CO,/H;0®
‘(i) Li,ether _y b

(i) Mg, cther

(ii) COo/H3
(i) c07/H30®
(F)
9.
o Watch Video Solution

O

k POCl3 N C2H5MgBr R
10. NH, >A HO® B

10.

o Watch Video Solution



https://dl.doubtnut.com/l/_A2yzVEBP9UdO
https://dl.doubtnut.com/l/_iLEIbz0tppaz

11.a. Ph—C =N (ii) H,0, H°

CHO __()CH;MgBr | o

b. Ph/\/ (ih H,0

(i) MeLi
(i) H,0

> (B)

11. (a)

o Watch Video Solution

12. PhCH,
12.

o Watch Video Solution



https://dl.doubtnut.com/l/_ADtIuM7IJB3m
https://dl.doubtnut.com/l/_qgynNM2QeOPV

Br

13.

Cl
13.

o Watch Video Solution

14. Me 5 A

14.

° Watch Video Solution



https://dl.doubtnut.com/l/_83iOqbdzCflg
https://dl.doubtnut.com/l/_51tSHPC6NvFz

15. (a)
(0]

||
Me — CMe(2mol) + BrMgC = C — MgBroveset(H;0%)( — )A

b. <:>- MgBr + HCOOEt — 229 5 A
<:>= <:>—MgBr 0 A

o Watch Video Solution

)

|
16. The reaction of Me3CM,Cl and Me3C — C — Cmes after
hydrolysis gives a (A) and a 2° alcohol (B) rather than the
expected tri — ¢t — butyl carbinol. Provide the structures of (A)

and (B) with explanation.

o Watch Video Solution



https://dl.doubtnut.com/l/_ErSV3sdEjlIA
https://dl.doubtnut.com/l/_t0ARG2U4eZ8Z

17. Convert of following :

a. Acetone to Me>(\
| Me COOH
OH

Me
b. Ethanol to " >“CH=O
e

c. Acetic acid to Butan-2-one
Me

d. Acetaldehyde to

Me
e. -Butanol to W
Me

° Watch Video Solution

Exercises (Linked Comprehension)



https://dl.doubtnut.com/l/_bz5U4cyMEd3v

1. In the following reaction sequence, the products (B) to (E) are

formed.
M 1
{ © CHO
M66 4=3 / L1A1H4> HBr > (1) Mg,/ether% D
5 2 ) (©) & so, ©)
(A) @ HO® | oo
5-Methylhex-3-yn-1-al (F) (i) 2Li +hw
(ii) DO
E)

The structure of product (B) is :

O
Mec I
a. Mc+E‘AS—O[l
Br (”)
A.
Me Br
bh. Me __)\
- CHO
O=S=
B OH
Me o
c. Me‘i\_
—NV>S—OH
Br T
C. O
Me %
d. Me—__ A~ \—OH
Br O
D.

Answer: C


https://dl.doubtnut.com/l/_UtubnYCiJk65

° Watch Video Solution

2. In the following reaction sequence, the products (B) to (E) are

formed.

M 1

{ © CHO

6 ! 4 3 LiAlHg HBr (1) Mg/ether
Me=—1p =/ >()—>©O) G50, >®
(A) (iit) H30® BS
5-Methylhex-3-yn-1-al (F) <02 +
(i) DO

(E)

The structure of product (C) is :

Me

b. Me—;¥ N\
~ CHO

B. Br

Me

c. Me:—Lz/\/Br


https://dl.doubtnut.com/l/_UtubnYCiJk65
https://dl.doubtnut.com/l/_ScfGVw6o9bB1

Me

d. Me

Answer: D

o Watch Video Solution

3. In the following reaction sequence, the products (B) to (E) are

formed.
M. 1
© CHO
6 43 LiAlHs . HBr (i) Mg/ether
Me\LS =_2/ > (1) s (C) DNV, (D)
(A) @yro® |\ oo
5-Methylhex-3-yn-1-al (F) (i) 2Li +hv
(i) D,O
()

The structure of product (D) is :


https://dl.doubtnut.com/l/_ScfGVw6o9bB1
https://dl.doubtnut.com/l/_2hSupVijtP2W

Answer: C

° Watch Video Solution

4. In the following reaction sequence, the products (B) to (E) are

formed.


https://dl.doubtnut.com/l/_2hSupVijtP2W
https://dl.doubtnut.com/l/_YQWzuLuZOXhM

M 1
c CHO

6 43 LiAlH; . HBr (i) Mig/ether
Me\_LS =_2/ >(1) s () DNV, (D)
(A) @ro® |\ oo
5-Methylhex-3-yn-1-al (F) (i) 2Li +hv
(i) DO
()

The structure of product (E) is :

Me (|:|)
a. Me E_/\ﬁ—OH
Br O
A.
Me Ilir
b. Me - /\
- CHO
O=?=O
B OH
Me
.. M % I
c. Me —~S—OH
Br |
C.
Me (0]
d. MH'\=/\/%—OH
Br I
D. 9
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_YQWzuLuZOXhM
https://dl.doubtnut.com/l/_ow47hqdghnYA

5.In the following reaction sequence, the products (B) to (E) are

formed.

Me 1
CHO
6 4 3 LiAIH HB i) Mg/eth
Me-_LS E_z/ —5( )—‘>(C)((‘.".‘)—§g3—°‘>®3

(A) GOREC N,
5-Methylhex-3-yn-1-al (F) (i) 2Li +hy
(ii) DO
(E)

The structure of product (F)) is :

Me

a. Me—l——z—/\

D
A

Me

Me

aM



https://dl.doubtnut.com/l/_ow47hqdghnYA

| ¥ Vvatcn Video solution

5 3 1

NN\ 2ale. KOHy ()2HBr o
Br 4 2 Br = >(B) & Prcoy0 ©
(A) +hy

(i) Mg/ether
_ (i) Mg/ether _ (ii) HCOOEt
(E)+(F) <Gy Phenor - (D) (i) F,0°

6.

The structure of product (B) is :

Y VAN

a.
HO OH
A

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_ow47hqdghnYA
https://dl.doubtnut.com/l/_jBhU60cssvID

|

5 3
2 ale. KOH ()2HBr
Br 4 2 Br >(B) (ii) (PhCO),0” (©

( A) + hy
) Mgt (i) Mg/ether
(i) Mg/ether _ (i) HCOOEt
) (E)+(F)< (ii) Phenol (D) < (iii) H,0®

The structure of product (C) is :

YAV ANVAN
A a. Br Br
/\/B(
b. Me 7 Me
B.
Br Br
« M
C. Me Me
Me
d Br/\/Y
D. Br
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_teo4fjAaBtZP

S 3 |

YAV AVANEDS KOHy (g) _(2HBr ___ ()

Br 4 (A) 2 Br (ii) (PhCO), 0~

+ hy
) Mgt (1) Mg/ether
_ (i) Mg/ether . (ii) HCOOEt
. (B) + (F) <y ppenor (D) < (iii) H;0%

The structure of product (D) is :

a AVAVAN
A. O=HC CH=0

Me Me
p. H
Me
B.
O=HC CH=0
C.
M
C. Me ¢
OH
d.
D.

Answer: D


https://dl.doubtnut.com/l/_NXcuPaMxcjD1

° Watch Video Solution

|

2 alc. KOH (i) 2HBr <
Br >(B) (ii) (PhCO), 0™ (©)

5 3
Br 4 2

(A) + hy
(i) Mg/eth
B+ (F)< (i) Mg/ether (D) < (;i) HCE)Oeét
(BE)+( )V(ii) Phenol - (iii) H30®

0.

The structure of product (E) is :

VAV AN
. Me Me
A.
NN Me
b. Me
B.
OH OH
C.
Me Me
C.
Me
i O/\/Y
OH
D.
Answer: A

| o View Text Solution


https://dl.doubtnut.com/l/_NXcuPaMxcjD1
https://dl.doubtnut.com/l/_MDHt3ytkOvqf

/W\ i
2 alc. KOH\( B) (i) 2HBr S (C)

Bt A 2 B PhCO),0”
(A) ! W i hv "
) Meth (1) Mg/ether
B+ (F) < (i g/ether < (ii) HCOOEt
o (E)+(F) (11) Phenol (D) (iii) H30®

The structure of product (F) is :

OMgBr

a. | mol of O
A.

OMgBr

b. 2 mol of @
B.
Mc
¢. I mol of

O~
Me

d. 2 mol of

Answer: B


https://dl.doubtnut.com/l/_MDHt3ytkOvqf
https://dl.doubtnut.com/l/_GMfkpLYaXkDC

° View Text Solution

4
Me Me——0—Cl
-=—nH > (B) 25 (C)(gas) - (D)
+ CCly+ hv
But-1-yne lMeBr
A
( ) L (i) Mg/ether
( 7 (ii) Methy! ortho formate
1n (iff) H30°

The structure of product (B) is :

N
a =—Cl
A.
Me
b. =—H
B. Cl
N =_H
¢ Cl
C.
d. Me
Me
=—0—&Me
Me
D.
Answer: B

| o


https://dl.doubtnut.com/l/_GMfkpLYaXkDC
https://dl.doubtnut.com/l/_yDcReF9F2yRm

I & Watch Video Solution

4 Me
Me Me%—-O—Cl
3 21 Me EtMgB
\——_——H > (B)—225 (C)(gas) - (D)
+ CCl4 + hv
But-1-yne lMeBr
(A)

12.

The gas (C) is:
A.CH,
B. CyHg
C. C2H4

D. Isobutene

Answer: B

F)< (i) Mg/ether
(F)< (if) Methy! ortho formate
(iif) 1,0

° Watch Video Solution



https://dl.doubtnut.com/l/_yDcReF9F2yRm
https://dl.doubtnut.com/l/_pYeqVNXuK8wj
https://dl.doubtnut.com/l/_67cf2Q8LcuNC

4 Me,
Me Me> —0—Cl
Mg
—H

\3 2 1 EtMeB
= — > B—>O) D)
4 v
But-1-yne MeBr
A)

F)< (i) Mg/ether
(F)< (ii) Methy! ortho formate

13. (iii) H;0%

The structure of product (D) is :

& \——E——-MgBr
A.
Me
b. >~E—MgBr
B Cl
c. kE—MgBr
Cl
C.
Me Me
d. >—E—O—<—Me
Me
D MgBr
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_67cf2Q8LcuNC

4
Me Me—> —0—Cl
M
\3—2_=_1——-H c > (B) MR (C)(gas) - (D)
+CCly+ hy
But-1-yne lMcBr
(A)

N (i) Mg/ether (
( }V(ii) Methyl ortho formate

14. (iii) HgOEB

The structure of product (E) is :

a Me
A. =
b, /N =—Me
B Cl
Me
C. =—DMe
C Cl
=—0—Me
d. >— é\k
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_Hy0VWDSjcZOj
https://dl.doubtnut.com/l/_RjfzkA9tx2sq

4
Me Me—>—0—cCl
3 21 Me EtMgB
M g >(B)——>(C)(gas) = (D
+CCly+ hv
But-1-yne lMeBr
(A)

N (i) Mg/ether (
( /= (ii) Methyl ortho formate

15. (iii) H:0®

The structure of product (F') is :

A a. O=HC =M
Me
b >‘E“ M
B. O=HC
. =—Me
C. OH
Me
d. ‘>-E“ Me
D. HO
Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_RjfzkA9tx2sq

HW 1 lof I molof I malof
NH) =222 (B)= U2 (C) o (D)
PhMgB PhMgB PhMgBr
O O OH e = »

16.

The structure of product (B) is :

m*

OMgBr

e

OMgBr

W

O O OMgBr

MgBr

NHMgBr
M .

0 O oH

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_9QyDyPKDvVBg
https://dl.doubtnut.com/l/_N9AM2iBA6nnf

HW 1 lof | lof | moiof
NHy =220 (B)—220 (C) w2 (D)
PhMgB PhMgB PhMgBr
O O OH e e u

(A) (E) MO
17.

The structure of product (C) is :

O
a. Phw
NH,
O  OMgBr
A

OMgBr
ph Q
b. H.
0 Mg
B
B OMgBr &'

OMgBr

¢ H NHMgBr
Ph
C.

O O OMgBr

OMgBr

d. HMNHMgBr
O
D.

0 OMgBr

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_N9AM2iBA6nnf
https://dl.doubtnut.com/l/_X1WmDE9qls99

O
HWNH 1 molof I molof | I molof
2 Phmgbr” (B prmenr (©) prmgar (P
O O OH O
(A) (E) H.,n__—:

18.

The structure of product (D) is :

NHM;,Br

0
OMg B?MgBr

OMgBr OMgBr
OMgBr
Ph OMgBr
WNHMgBr
OMgBr
OMgBr

OMgBr

ph Ph
NHMgBr
OMgBr OH

OMgBr

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_X1WmDE9qls99
https://dl.doubtnut.com/l/_Q30BCcdfCWww

HW 1 molof 1 molof I molof
NH) =225 (B) 5 (C) T (D)
PhMgBr PhMgBr PhMgBr
O O OH |

(A) (E) HO® |
19.

The structure of product (E) is :

A OH O OH
ph 9
b. Phw
NH,
B. OH OH OH
b 0
C. th
C O OH OH
0
d. PhYWj\
NH,
OH O OH
D.
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Q30BCcdfCWww

(1) Iso-

Me N butaroic i A
.0\, - acid . 1) :
- + C
>’CI + Zle(AWPI‘OpaBC (Bm( )
Me ’ " i
Isopropy! chloride e>—M (i) H;0°
CH;~CH, Me

 (D)+E

(ii) H:0°
lH;Oe

20. (H)

The structure of product (A) is :

A. Isopropyl lithium

B. Propyl lithium

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_MRQQkqmVqa5O
https://dl.doubtnut.com/l/_JcuZWlV0QUs9

(1) Iso-
Me burtaroic i) A
0N - acid . 1) 2
= + C
M>—C1+ 2LIM(AWHOWC (B)m)( )
A .

Isopropy! chloride (i) Hsoe

Me
CH,—CH, M°>_

21.

The structure of product (B) is :

(0)

Me>)\/\
a Me
A. Me”
O
b Me>/l]\<Me
B. Me Me
OH
Me
C. Me
C. Me
OH
d Me>)\<Me
D Me Me

Answer: B



https://dl.doubtnut.com/l/_JcuZWlV0QUs9

| ° Watch Video Solution

(1) Iso-
Me N butaroic i A
. N, - acid . 1)
—> } > + C
}CI+ 2Li—3 (A&) 1,00 Propane (B);{';g( )
Me ’ “
. Me
Isopropyl chloride >_ (i) 1,0°
CHZZCHZ Me
D)+E
) HCHO/A -
72255 )
(1) HgOe
lH;Oe
(H)

22.

The structure of product (C) is :

OH
Me>ﬁ\/\
a. Me
Me
A. Me
OH
Me Me
b.
Me Me
B Me
OH
Me Me
C.
Me Me
Me Me


https://dl.doubtnut.com/l/_JcuZWlV0QUs9
https://dl.doubtnut.com/l/_odhsuqyAIgZI

Answer: C

° Watch Video Solution

(1) [so-
Me N bu}z:oic i) A
>—CI + 2Li—23 (A4 > Propane +(By—=>(C)
Me

hexané (ii) H3Oe (i) H0°

. Me
Isopropyl chloride > (i) H306
CH,=CH, Me

23.


https://dl.doubtnut.com/l/_odhsuqyAIgZI
https://dl.doubtnut.com/l/_0cnqtHduNPHS

Me Me
b.
Me Me
B Me
OH
¢. Me Me
Me Me
C Me Me
OH
q. Me Me
Me Me
H
D.
Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_0cnqtHduNPHS

(1) [so-

Me N butaroic i) A
F i s aycd o (B C
>*CI 2LiT—= (Aﬁi)moe Propane (B)m( )
Me ’
Isopropyl chloride M°>_ (i) 1,09
CH,=CH, Me

. O)+E
®QWA, G)

(ii) H:0°
lH;Oe

24. | : (H)

The structure of product (E) is :

M
A.
Me
h. } (,Hz
B Me
C.
C Me Me
Me
d. >——Me
D. Me

Answer: A



https://dl.doubtnut.com/l/_wFw6kPNDMmzv

| o Watch Video Solution

(1) Iso-
butaroic .
(1) A

Me
>~Cl + 2Liﬁf>(A)”ii‘i——>Propane +Br——=(O)
Me ’

(i) H3Oe (i) H:0°

. Me
Isopropyl chloride > (i) H;Oe
CH,=CH, Me

(D)+E
) 225 6)

B 0P
lH;Oe'

25. | (H)

The structure of product (F') is :

.

N a. Me/\/\/‘

Me Li

b >/\/

B. Me
Me

. >/\Li
C Me

D. None of these


https://dl.doubtnut.com/l/_wFw6kPNDMmzv
https://dl.doubtnut.com/l/_IQVEH3UitaPm

Answer: B

° Watch Video Solution

(1) Iso-
butaroic .
(1) A

Me
>~Cl + 2Lim;x;m>(A)ii(1——>Propane +By——=()
Me

‘ (ii) H3Oe (i) H309

. Me
Isopropyl chloride > (i) H;Oe
CH,=CH, Me

26.

The structure of product (G) is :

A a :::y\/\OH


https://dl.doubtnut.com/l/_IQVEH3UitaPm
https://dl.doubtnut.com/l/_2LIzLyD4m5nV

Answer: A

o Watch Video Solution

(1) Iso-

Me N butaroic i A
LN acid . i) -
I——>(A) > + C
>-C1+2L —— (A{ii) 1,00 Propane ®m( )
Me " )
. Me
Isopropyl chloride >_ (i) B 309
CH,=CH, Me
D)+E
( A
(i) HCHO/ s (G)
(ii) H:0°
lH;Oe
(H)

27.

The structure of product (H) is :


https://dl.doubtnut.com/l/_2LIzLyD4m5nV
https://dl.doubtnut.com/l/_DgthQDs8ybj2

Answer: A

° Watch Video Solution

Et‘KJE@ M(B) Dil HeT (C) + (D)

(i) HLOYW i pngBf/e'hcr
(A) (i) 1:0%
Partial hydrolysis
ln;oﬂ’ (E)
1;,0?
- ‘ > (G) + (H
28. (F) Complcte hydrolysis (G) )

The compound (B) is :

AEt— N—-CH =0
|
Pr

B.Et — N =Ch — Br


https://dl.doubtnut.com/l/_DgthQDs8ybj2
https://dl.doubtnut.com/l/_jdVy7ZKDZr06

H  OH
| |
CEt—N-CH - Pr

H (0]

| ||
D.Et — N—-C — Pr

Answer: B

o Watch Video Solution

Et—N==( W Mebvether () DILICL, () + (D)

(i) HLOW () prvgBr/ether
(A) (i) H:0%
Partial hydrolysis
lmOG’ (E)

1,09

Complete hydrolysis

(F)

> (G) + (H)
29. (

The compounds (C) and (D), respectively, are :
A.EtNH; and PrCH = O

B.Et — NH — Prand HCOOH

C.PrNH; and EtCH = O


https://dl.doubtnut.com/l/_jdVy7ZKDZr06
https://dl.doubtnut.com/l/_D3UurcXZzSYW

D. EtNH5 and PrCH,OH.

Answer: A

° Watch Video Solution

W

EthNEt? (1) PrMgBr/cther, (B)Bl_l—ﬂ-(—l'} (C) + (D)

(i) HLOW W prmgBr/ether
(A) i) H0?
Partial hydrolysis
\[H;o@ (E)
1,09
y > (G) + (H
30. (F) Complete hydrolysis (G) +( )

The structure of product (E) is :


https://dl.doubtnut.com/l/_D3UurcXZzSYW
https://dl.doubtnut.com/l/_MOUDUTd1lFhC

C.
O
w Pr
D. d. I'r
Answer: B

° Watch Video Solution

Et~%58 (1) PrMgaBr/cther, (B)EL_LK.-I——) (C) + (D)

(i) HLO'Y (i) pngBr/ethcr
(A) (i) H:07
Pactial hydrolysis
\[”\O(D (E)
;09
- > (G) + (H
31 (F) Complete hydrolysis (G) *+(H)

The compound (F) is :

A. N — Ethyl methanamide

B. N-Propylmethanamide


https://dl.doubtnut.com/l/_MOUDUTd1lFhC
https://dl.doubtnut.com/l/_UPy8KuaEzFWk

C. N-Ethylbutanamide

D. N-Propylpropanamide

Answer: A

o Watch Video Solution

EH%E@ (1) PrMgBr/cther, (B)l)_ll_llftl) () + (D)

(i1) HL,OW
(A)

Partial hydrolysis
H 0P

F) H,0®
32 ( Complete hydrolysis

> (G) + (H)

(i) prvgBr/ether
(ii) H:0%

(E)

The compounds (G) and (H), respectively, are :

A. Propanamide and CH, = O

B. Ethylamine and CHy; = O

C. Ethylamine and HCOOH

D. Propanamide and HCOOH



https://dl.doubtnut.com/l/_UPy8KuaEzFWk
https://dl.doubtnut.com/l/_CSQXK4EdI1nz

Answer: C

o Watch Video Solution

33. s
Which of the following statements is//are correct ?
A.When G. R reaction with alkyl isocyanide, of electrophile
& e ©
(MgX) first adds of the C atom of | N = C'| group and
then the nucleophile (Ré> adds of the same C' atom.
B.When G. R reacts with alkyl isocyanide, the nucleophile
. o o
(Re> first adds to the C atom of | N = C' | group and then
@
the electrophile (MgX) adds to the same C atom.
®
C.When G. R reacts with alkyl isocyanide, electrophile <MgX)

D S}
adds to the C' atom of (NC’) group and the


https://dl.doubtnut.com/l/_CSQXK4EdI1nz
https://dl.doubtnut.com/l/_PJYSWeKtgR2q

nucleophile (Ré> adds of the N atom.

D.when alkyl isocyanide is hydrolysed in dilute acidic medium.
@ (S
H® (electrophile) adds to the C' atom of | —N=C

(S}
group and then OH (nuclephile) adds to the same C atom.

Answer: A::B

o Watch Video Solution

Exercises (Multiple Correct)



https://dl.doubtnut.com/l/_PJYSWeKtgR2q

1. A 3° alcohol

Ph/;h\Ph

can be
obtained by the reaction of PhMgBr and.
A. Ethyl carbonate
B. Benzophenone
C. Ethyl benzoate

D. Benzamide

Answer: A::B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_CepT2P7P0t1P

2. A 3° alcohol

Me
Me Me Me

can  be
obtained by the reaction of ketone (di-isopropyl ketone) and.
A. Isopropyl magnesium bromide
B. Isopropyl lithium
C. Di-isopropyl cadmium

D. Di-isopropyl zinc

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Iudt7uIBVVMf
https://dl.doubtnut.com/l/_XaKImeKqwVAf

3. The coupling betweenCyH;MgBr and MeBr gives propane in

the presence of :

A. MeOT's

B. EtOT's

C. AgBr

D. CU0l2

Answer: A::B::D

° Watch Video Solution

4. Which of the following halides does not form G. R when treated

with magnesium in the presence of ether ?


https://dl.doubtnut.com/l/_XaKImeKqwVAf
https://dl.doubtnut.com/l/_xRrJyGHDgOAJ

c C. OQN_@_BI'

p, 9 HOOC—0)—Br

Answer: A::B::C::D

o Watch Video Solution

5. Which of the following halides does form G. R when treated with

magnesium in the presence of ether ?

A. PhBr

B. b. /\/Br

C.

o & H,N—O)—Br

Answer: A::B::C

s |


https://dl.doubtnut.com/l/_xRrJyGHDgOAJ
https://dl.doubtnut.com/l/_4PcjFLsCVV3L

| o VWatch Viaeo Solution

6. Acetophenone can be obtained by the reaction of PhMgBr and.

A. Ethane nitrile

B. Ethanamide

C. Ethanoyl chloride

D. Methanamide

Answer: A::B

° Watch Video Solution

7. Hexan-3-one can be obtained by the reaction of EtMgBr and.

A. Butanamide

B. Propanamide


https://dl.doubtnut.com/l/_4PcjFLsCVV3L
https://dl.doubtnut.com/l/_xvvEscqipE29
https://dl.doubtnut.com/l/_Qd2GGgmLYbLd

C. Butane nitrile

D. Propane nitrile

Answer: A::C

° Watch Video Solution

8. A 2° alcohol

OH

MC3C H CMC3

obtained by the reaction of di-t-butyl ketone and

A. Isopropyl magnesium bromide

B.t — Butyl magnesium bromide


https://dl.doubtnut.com/l/_Qd2GGgmLYbLd
https://dl.doubtnut.com/l/_gapaCsJVKRpX

C. EtMgBr

D. MeMgBr

Answer: A::B::C

o Watch Video Solution

HO 1. Mg/ether
> (A
"~ \_@ Br —ecome > V)

9. 3. H;09 . The
compound (A4) is :

0
OH

H
o)
H

Me
a. HO. C .
A. Me
HO Me
b. AN <:> I
B.
c. HO\ <:> /:
C.

D. None of these


https://dl.doubtnut.com/l/_gapaCsJVKRpX
https://dl.doubtnut.com/l/_Elo8nK98L1uS

Answer: D

o Watch Video Solution

10. Which of the reagents is the most suitable for the following

reaction ?
Me
MeMgBr + (A) — Me ' OH
Me
AMe—-C=N

b M

OMe

c. MeJ\OTs


https://dl.doubtnut.com/l/_Elo8nK98L1uS
https://dl.doubtnut.com/l/_HWRNxLz6uveP

O

o ey

D 2

Answer: C

o Watch Video Solution

1. Which of the following would give benzene when reacted with

PhMgBr ?
OH O
A a Me " Xx OFt
B. H,

C. Methyl amine

D. NH;

Answer: A::B::C::D

o Watch Video Solution



https://dl.doubtnut.com/l/_HWRNxLz6uveP
https://dl.doubtnut.com/l/_jJMPEud2voo9

Heated at high temp.
12. EtNH> + MeMgl > Gas(A) The volume of

in the presence of pyridine

gas (A) obtained at S.T. P when 0.45gm of EtNH, reacts with

MeMagl is.

A. 224ml

B. 22.4ml

C. 448ml

D.448 ml

Answer: C

° Watch Video Solution

13. Which of the following reactions would give pentan — 2 — ol ?

Me
(i) EtMgBr
a. — "

A o) (i) H;0®


https://dl.doubtnut.com/l/_jJMPEud2voo9
https://dl.doubtnut.com/l/_BsjWFJVwdYdk
https://dl.doubtnut.com/l/_YqUGwbBQObx7

—O (i) MeMgBr

—_
b. [ (i) H;0®
Me

Br .
/\)\ (i) Mg/ether
o Me Me o0,
C (iii) H;0®

PrmgBr / ether
D. MeCHO
H30®

Answer: A::B::C::D

o Watch Video Solution

14. Which of the following reactions would give caproic acid ?

(2) Mg/ ether
An — C5H11.B’I" E—
(1) CO,
(1) CO,
B.n — C5H11L’I: —_—
(i1) H3O
1) Mg /ether
Cn— C4H9.B’I’ () M9/ ?
(i) CO,
(iii) H;0®

i) A
D.n — C5H11MgB’l" + (CN)2 L)
(4t) H;O®

Answer: A::B


https://dl.doubtnut.com/l/_YqUGwbBQObx7
https://dl.doubtnut.com/l/_qbhcxI2vFMPA

o Watch Video Solution

© £
Cl 1 mol of 1 mol of 1 mol o

Tontgnr > (A) Trvagar > 2 Mm;,gr

-————9 D
OH ©) (D)
15.

Which of the following statements is//are correct ?

A.First mole of G. R reacts at ( — OH) group and the product

(0]
0

product (A) is a and phenol.

(A)is Ovgex and phenol.

B. Second mole of G. R reacts with keto group and the product
O

OMgBr
Cl Ph

(B) is OMgBr


https://dl.doubtnut.com/l/_qbhcxI2vFMPA
https://dl.doubtnut.com/l/_6jnrmgNIVZcs

C. Second mole of G. R reacts with acid chloride group and the

OMgBr
O

Ph
Ph

product (B) is OMgBr

OH
Ph Ph

D. Compound (D) is OH

Answer: B

° Watch Video Solution

16. Which of the statements is/are correct ?

A.In  Reformatsky reaction, a — bromo ester reacts with

aldehyde or ketone in the presence of Mg to give

B — hydr ® y ester.


https://dl.doubtnut.com/l/_6jnrmgNIVZcs
https://dl.doubtnut.com/l/_Vkapys2XulpO

B.In Reformatsky reaction, o — bromo ester reacts with

aldehyde or ketone in the presence of Zn to give

B — hydr ® y ester.

C. Citric acid is prepared by the reaction of a — bromoethyl

acetate and ethyl oxaloacetate in the presence of Zn followed

by hydrolysis.

D. Citric acid is prepared by the fermentation of molasses in the

presence of Aspergillus wentienzymes.

Answer: B::C::D

° Watch Video Solution

Exercises (Single Correct)



https://dl.doubtnut.com/l/_Vkapys2XulpO

1. 1-Ethyl-2-methyl oxirane when treated with CH5MgBr, followed

by hydrolysis gives :

b. M

Y,

Me

% %
c
sy

c. Me

g

OH

Me

d. Me

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_oWhn3jACW3W5

2. When ethane nitrile is treated with CsH;MgBr, followed by

hydrolysis, the product is :

a. Me/\”/\Me

A O

Me

Me
b. \[(

B. 0

Me

¢. Meo<\ Me

C. OH

Me
d. \“/\Me
D. O

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_5qO9gj7DPE6U

3. When methyl orthoformate is treated with l». followed by

hydrolysis, the product is :

Me Me
a.
\"_<Me

A O
Me Me
b.
Me Me
B OH
Me O
c >—<
H
c Me

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_1HCADYRv4dHO

4. When ethyl ethanoate is treated with excess of MeMgBr,

followed by hydrolysis, the product is :

Me Me

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_HrLucqE1OK4s

5. When di-isopropyl cadmium is treated with ethanoyl chloride, the

product is :
Me
a. >__"(\Me
A Me 0
Me Me
o
Me O
B.
Me Me
¢. >—< M
Me OH e
C.
Me Me Me
a. >—§—<
Me OH Me
D.
Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_9nLfO2Vb8Pcc

6. When

treated with Cy H; M gBr, followed by hydrolysis, the product is :

O
COOH
a.
A Me

OH

Me

Me
OH
COOH
C.
C. Me
OH OH
d.
D. OH Me

O
b.
B.


https://dl.doubtnut.com/l/_D0wUpcWqqkCZ

Answer: C

o Watch Video Solution

7. When ethanamide is treated with EtMgBr, followed by

hydrolysis, the product is :

Answer: B

| o Watch Video Solution


https://dl.doubtnut.com/l/_D0wUpcWqqkCZ
https://dl.doubtnut.com/l/_WsigS3jkpd4K

8. Propane is not formed when C3 H; M gBr is treated with

A. H5

B. Phenol

C. Ethanoic acid

D. 2-Butyne

Answer: D

o Watch Video Solution

9. Alcohol is not formed when RMgX is treated with

A. Ethanoyl chloride

B. 0>


https://dl.doubtnut.com/l/_WsigS3jkpd4K
https://dl.doubtnut.com/l/_4L9VommrXlJw
https://dl.doubtnut.com/l/_GVMaG290f07Z

C. Oxirane

D. Methyl orthoformate

Answer: D

° Watch Video Solution

MeMgRr + /\l/o

10.

product is :

Me

A

b. N
B. HO Me

H

. Me/\/l\o

C.

D. None is correct

lll(fﬁ

The


https://dl.doubtnut.com/l/_GVMaG290f07Z
https://dl.doubtnut.com/l/_Vkvn2fvwQorO

Answer: C

o Watch Video Solution

11. The end product (C) of the following sequence of reaction is :

CH = CH + MeMgBr(1mol) -+ (A) ——— (B) ——— (C

C. OH OH

/H\(O
d. Me

Answer: A

(i) CO,

(ii) H;0®

HgSO4 / HQSO4



https://dl.doubtnut.com/l/_Vkvn2fvwQorO
https://dl.doubtnut.com/l/_rMkC7bKinHaa

° Watch Video Solution

A) + MeMgBr 1O Me/\/OH~

12. Hence,

() 1molof (NaNHy+lig. NHj)
CH =CH > (C).The product (C) is :
(i) A

A HH—=—">o0Hn

H—= '
b. ~on

B.
. H—E—{O
C. H
=0
5 dH—=—<__,
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_rMkC7bKinHaa
https://dl.doubtnut.com/l/_VyjfWCqkwMdV

O

| HgSO, / HySO, A 2molofMeMgBr | H;O®
_—

? OH

()H

> (B).(B)is:

B OH
O

Me

OH

GOW


https://dl.doubtnut.com/l/_oGBljspTlILX

Answer: B

o Watch Video Solution

MeMgBI‘ + Q H,0°® B(A) HBr s (B) Mg/ether
4. O

a. Q OH
A.  Me

1


https://dl.doubtnut.com/l/_oGBljspTlILX
https://dl.doubtnut.com/l/_RSPARF5dtVFj

Answer: A

© Watch video Solution
Me
>—MgBr
Me g s
O

Me >/“\< Me
Me Me

treated with

15. When


https://dl.doubtnut.com/l/_RSPARF5dtVFj
https://dl.doubtnut.com/l/_jyZGOJbNLDbm

followed by hydrolysis, the product is :

Me Me
Me Me

a.
M M
A. ¢ OH ©

c.l&

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_jyZGOJbNLDbm

COCl

_ Me
(1) < Me >>~CuLi
16. 2

(i) H;0*
CH,CI

16.

product A is :

O

I
Me
C _<Me

CH,CI

OH

Me Me
Me >— ¢ __<Me

B CH,CI

—> A

The


https://dl.doubtnut.com/l/_9R1ftcoBLpEM

(0]

|
Me Me
d. MC>— C _< Me

. ©

Answer: C

o Watch Video Solution

Cl
. CHsMgBrH:0® = (CpHs),Cd o o
B (2m/01)\'01/ (GHsC

17. (A) and

(B) are:

Cf/\“/\Mc

A.Aand B = N = O


https://dl.doubtnut.com/l/_9R1ftcoBLpEM
https://dl.doubtnut.com/l/_Pm25BthLq2yo

OH
C /\K\Mc
Me

B.Aand B = N =

CASN=CTY e

Answer: D

° Watch Video Solution

O 0) @)
HzN/u\/”\O)J\Me %A (A)

(ii) H,0°®
18. '
(0] (0]
A. & NHz/U\/U\ Me
O OH
b. NHZ/U\/‘\ MC
B Me
(0] (0]


https://dl.doubtnut.com/l/_Pm25BthLq2yo
https://dl.doubtnut.com/l/_HPrFzOgsuuq9

O OH

d. Mc‘/“\/’\ Me

D. Me

Answer: D

o Watch Video Solution

_OH

e

ether

19. Br

OH

A MgBr

OMgBr

OMgBr

>A. (A) is:



https://dl.doubtnut.com/l/_HPrFzOgsuuq9
https://dl.doubtnut.com/l/_XcLOvBRMPcBY

OMgBr

D. MgBr

Answer: C

o Watch Video Solution

Br/\/Br

20.

A a Bng/\/ MgBr

B. b. Bng/\/ Br
C.CHy = CH,
D. All

Answer: C

| a WAr_L_L vl e~ ..t



https://dl.doubtnut.com/l/_XcLOvBRMPcBY
https://dl.doubtnut.com/l/_R7lIchbicDoV

L T vvallll viuco o0I1uLiorni

21.

A a Bng/\/MgBr

B b. Bng/\/ Br

C.

D. All

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_R7lIchbicDoV
https://dl.doubtnut.com/l/_Oxa8YxBa9CeW

22.

22,

Br
Br

NO,

MgBr
Br

MgBr
MgBr

NO,

ether

>A. (A) 1s:


https://dl.doubtnut.com/l/_9X740tr9IuVE

Br

MgBr
c.

NO,

D. None of these

Answer: D

o Watch Video Solution

23. Ethylmercaptan is prepared by the reaction of the following,

followed by hydrolysis :

A.CoHsMgBr 4+ SO-

B. CoHs MgBr + S

C.CoHsMgBr + CS9

D.CyHsMgBr + H»S.


https://dl.doubtnut.com/l/_9X740tr9IuVE
https://dl.doubtnut.com/l/_qiUypwq8q3sB

Answer: B

o Watch Video Solution

24. Methyl oxirane on reaction with CH3MgBr, followed by
hydrolysis, gives alcohol. By which of the following mechanisms does
the reaction proceed ?

A. SN*

B. SN

C. SN

D.SE

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_qiUypwq8q3sB
https://dl.doubtnut.com/l/_igHToxrvwlI4

25. Benzonitrile on reaction with CyH;MgBr, followed by

hydrolysis, gives.

O
A' a. Ph/lK/Me
b.Ph—" " Me
B. 0
(0]
c. Ph/U\H/\Me
C. O
OH
d. ph/b/ Me
D. Me
Answer: A

o Watch Video Solution

26. Acetoisonitrile on reaction with CyH;MgBr followed by

hydrolysis, gives compound (A), which one further hydrolysis gives


https://dl.doubtnut.com/l/_QcM6ak57HjiQ
https://dl.doubtnut.com/l/_s0dn3yABhGdZ

(B) and (C).

(B) and (C) are:
A.MeNH, and EtCHO
B. EtNH, and MeCHO
C. MeNH, and EtCOOH

D. EtNH, and MeCOOH

Answer: A

o Watch Video Solution

CHzBr

>A. (A) is:

ether

2 Cl


https://dl.doubtnut.com/l/_s0dn3yABhGdZ
https://dl.doubtnut.com/l/_8oGF4BUCcSs2

CH,MgBr

a.
A. Cl
CH,MgBr
b.
5 MgCl
CHzBr
C.
MgCl
C.

D. None of these

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_8oGF4BUCcSs2

28. Propane dithioic acid is prepared by the reaction of the

following, followed hy hydrolysis :

A. C3H7MgB’I" + CSQ

B. CQH5MgB’T’ + CSQ

C. 03H7MgB7’ + SOQ

D.CoHsMgBr + SO,

Answer: B

o Watch Video Solution

29. Propylsulphinic acid is prepared by the reaction of the following,

followed by hydrolysis :

A. 03H7MgB7' + 502

B. C, Hs MgBr + SO,


https://dl.doubtnut.com/l/_RVG2JT9MDayu
https://dl.doubtnut.com/l/_YbhXCcubDGE8

C. 03H7MgBT‘ + 503

D. 02H5MgBT' + SO3

Answer: A

° Watch Video Solution

+ C2H5MgBr

Me
30.

OH

Me

(1A

(i) H,0%



https://dl.doubtnut.com/l/_YbhXCcubDGE8
https://dl.doubtnut.com/l/_SBnd6j4ji4II

D.[#

Answer: C

o Watch Video Solution

31. Ethanoic propanoic anhydride on reaction with excess of

MeMgBr gives the major product.

OH
a. Me /‘\ Me
A Me

Me
b. Me/\l/Me
OH

B

O

C.c. Me/u\/Me


https://dl.doubtnut.com/l/_SBnd6j4ji4II
https://dl.doubtnut.com/l/_ygzKK0vl60rX

O

d. Me/u\Me

D.

Answer: A

° Watch Video Solution

32. Reactivity of MeMgBr with the following in the decreasing

order is :
O 0

i. Me/”\Me ii. Ph /U\Me
O Mg
i, pp /U\ o v, Ph /\n/

(i 0

A (i) > (i) > (di5) > (iv)
B. (tv) > () > (43) > (441)
C.(2) > (#3t) > (32) > (3v)

D. (iv) > (34) > (¢i3) > ()


https://dl.doubtnut.com/l/_ygzKK0vl60rX
https://dl.doubtnut.com/l/_VfcVuBLE1UID

Answer: B

° Watch Video Solution

Ox 070 H.0°
+C2H5MgBI‘————-——“—)

Me (excess)

33. Product.

The major product is :

Answer: C


https://dl.doubtnut.com/l/_VfcVuBLE1UID
https://dl.doubtnut.com/l/_zUcdTzwmz4As

o Watch Video Solution

34. Reactivity of

O
Me Et

following G. R in the decreasing order is :

with  the

(i) MeMgBr
(i) EtMgBr
(iii) MesCH — MgBr

(iv) MesC — MgBr.

A. (i) > (i1) > (iii) > (iv)

B. (3v) > (43¢) > (i) > (7)


https://dl.doubtnut.com/l/_zUcdTzwmz4As
https://dl.doubtnut.com/l/_1ddvm6u5FLYI

C. (i) > (i) > (iv) > (i)

D. (iv) > (1) > (ii1) > (1)

Answer: A

° Watch Video Solution

O
MC H,O@
35.
A a Mc/l?\/\/\MgCl
Me OH
Ve

B.

OH


https://dl.doubtnut.com/l/_1ddvm6u5FLYI
https://dl.doubtnut.com/l/_8Abk6AWLoWrt

OH
Mg Mg

Answer: B

o Watch Video Solution

36. Reactivity of EtMgBr with the following in the decreasing order
is :

(i HCHO

(i) MeCHO

(iii) MeCOMe

(iv) ClsC — CHO.

A (i) > (id) > (idi) > (i)

B. (4v) > (#44) > (ii) > (9)

C.(iv) > (i) > (i) > (i)


https://dl.doubtnut.com/l/_8Abk6AWLoWrt
https://dl.doubtnut.com/l/_atrGceP98dHY

D. (iid) > (#4)(5) > (iv)

Answer: C

° Watch Video Solution

37. Reactivity of PhMgBr with the following in the decreasing
order s :

(i) PhCHO

Me CHO

(i)


https://dl.doubtnut.com/l/_atrGceP98dHY
https://dl.doubtnut.com/l/_fGCXoh2K22e6

Me

@— CHO
Me

(iv) .

(i

A (i) > (iv) > (i) > (ii7)
B. (¢i3) > (i) > (iv) > (1)
C. (i) > (dti) > (ii) > (iv)

D. (¢) > (i2) > (iii) > (iv)

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_fGCXoh2K22e6

38. Reactivity of PrMgBr with the following in the decreasing
order is :
(i) Alcohol
(ii) Aldehyde
(iii) Ketone
(iv) Ester.
A (iv) > (ii1) > (i1) > (1)
B.(2) > (i3) > (43) > (iv)
C. (42) > (di3) > (i) > (iv)

D. (iv) > (3) > (iid) > (4i)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_fGCXoh2K22e6
https://dl.doubtnut.com/l/_XjK2s4SDVjzl

39. Reactivity of HCHO with the following G. R in the decreasing
order is :
(i) PhMgBr

(i) PhCHyM gBr

/\/ MgBI’
(iii)
(iv) :
A (iv) > (iii) > (i1) > (1)
B.(2) > (i1) > (i3) > (iv)
C. (#3) > (i1) > (i) > (iv)

D. (¢i) > (¢i3) > (i) > (iv)

Answer: D

| . 1


https://dl.doubtnut.com/l/_4YoVKUoYFVLA

| o Watch Video Solution

40. Which of the following 3° alcohols does propyl ester give during

reaction with EtMgBr ?

OH
a. Me Me
e~
OH
b Me\/{\/\MC
B Me
OH
C Me\/i\ Me
Me
C.
OH
d Me /'\Me
D Me
Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_4YoVKUoYFVLA
https://dl.doubtnut.com/l/_oXBSkReIRrQQ

41. Ethyl ester reacts with PrMgBr to give 2° alcohol. The alcohol

is :

A OH
Me Me
b \/\|/\/

B OH

c. Me /\K\Me
C OH

d. Me/YMe
D OH

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_YofhULfsfISE

42. Methyl ester reacts with EtMgBr to give 3° alcohol

OH
Et /|\Et
Pr

The ester is :

A. Methyl propanoate
B. Methyl butanoate
C. Methyl ethanoate

D. Methyl formate

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_VOjGknhcBSfp

43. Propyl ester reacts with isopropyl magnesium bromide to give

OH
Me Me

Me Me

2° alcohol

The ester is :
A. Propyl methanoate
B. Isopropyl formate
C. Propyl ethanoate

D. Isopropyl ethanoate

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_VOjGknhcBSfp
https://dl.doubtnut.com/l/_T830R5YY6njI
https://dl.doubtnut.com/l/_gLhAA2hbPW4K

44. Propyl lithium reacts with ethene to give a compound (4),
which on reaction with methanal followed by acidic hydrolysis gives
compound (B). The compound (B) is :

A . Heptan — 1 — ol

B. Heptan — 2 — ol

C.Hexan — 1 — ol

D.Hexan — 2 — ol

Answer: C

° Watch Video Solution

45. Coupling reaction between RMgX and R’X takes place to give

R — R’ in the presence of which of the following reagents ?

AR —OTs


https://dl.doubtnut.com/l/_gLhAA2hbPW4K
https://dl.doubtnut.com/l/_g1FqGVff5vRY

B. COCZQ

D. All

Answer: D

° Watch Video Solution

. . . . 1.Ether A
46. Phenyl isocyanide + Benzyl magnesium bromide ——— (A).
2. H;0

The compound (A) is:

a. Ph—N _~_-Ph

l
A Ph

b. Ph—N ~"pp

Ph

C. ¢ Ph~ >N=CH—Ph

D d. Ph—N=CH~-"Ph


https://dl.doubtnut.com/l/_g1FqGVff5vRY
https://dl.doubtnut.com/l/_2ryeziw1xxDU

Answer: D

o Watch Video Solution

47. The compound (A) in the previous question is further
hydrolysed in dilute acidic medium to give compounds (B) and (C).
The compounds (B) and (C) are:

A.PhNH, and PhCH = O

B. PhCHyNHy and PhCH = O

C. PhNH, and PhCH>,CH = O

D. PhCHyNH, and PhCH,CH = O.

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_2ryeziw1xxDU
https://dl.doubtnut.com/l/_mrvRRNN2L8rQ

Exercises Archives (Single Correct)

1. MesC' — MgCl on reaction with D5O produces :

A. MBgC.D
B. M€3CO.D
c.(CD),CD

D. (CD),COD.

Answer: A

° Watch Video Solution

MeMgBr
2. Ethyl ester ——— P.The product P will be :

Eexrcess

Me Me

Me OH


https://dl.doubtnut.com/l/_Q30nvHFcFrkJ
https://dl.doubtnut.com/l/_oPUnWiEBvW9l

Me Me
c. K
Me OH

C.
Me Me
d. : :OH
D Me
Answer: A

o Watch Video Solution

3. The order of reactivity of phenyl magnesium bromide with the

following compounds is :


https://dl.doubtnut.com/l/_oPUnWiEBvW9l
https://dl.doubtnut.com/l/_zY2GTcI5NLql

Me
D=
Me
(1D >—-
(1) >—-—-—o
Ph |

All>1II >1

(1)

B.I > III > 1II


https://dl.doubtnut.com/l/_zY2GTcI5NLql

CII>1>1II

D. All react with the same rate

Answer: C

o Watch Video Solution

4. When phenyl magnesium bormide reacts with ¢t — butanol the

product would be :

A. Benzene

B. Phenol

C. t-Butyl benzene

D. t-Butyl pheyl ether

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_zY2GTcI5NLql
https://dl.doubtnut.com/l/_b38HEyCsEnL0

Exercises Archives (True/False)

1. The reaction of methyl magnesium iodide with acetone followed

by hydrolysis gives secondary butanol.

o Watch Video Solution

Exercises Archives (Subjective)

1. Write the structural formula of the main organic product formed

when ethyl acetate is treated with double the molar quantity of

MeMgBr and the reaction mixture is poured into H5O.

o Watch Video Solution



https://dl.doubtnut.com/l/_b38HEyCsEnL0
https://dl.doubtnut.com/l/_tBP26BKVf3dO
https://dl.doubtnut.com/l/_ru4Oj0yV4BOq

2. Compound X (molecular formula Cy;HgO) does not react
appreciably with Lucas reagent at room temperature but gives a
precipitate with amononiacal silver nitrate with excess of
MeMgBr, 0.42gm of X gives 224ml of CH, at S. T. P Treatment
of X with Hy. in the presence of Pt catalyst followed by boiling
with excess of HI, gives n-pentane. Suggest the structure for X and

write the equations involved.

o Watch Video Solution

3. Identify the major products in the following reaction.

CsHsCOOH + MeMgl — 7 + 7.

o Watch Video Solution



https://dl.doubtnut.com/l/_xx7oC1OT0ybC
https://dl.doubtnut.com/l/_UVcxvJ33BtlX

4. In the following reactions, identify the compounds A, B, C and
D.

(i) PCly + SO, - A+ B

(i) A+ MeCOOH — C + SO5 + HCI

(iii) 2C' + Mey,Cd — 2D + CdCl,.

° Watch Video Solution

5. 1,4-Pentadiene reacts with excess of HC! in the presence of
benzoyl peroxide to give compound X, which upon reaction with
excess of Mg in dry ether forms Y. Compound Y on treatment with
ethyl acelate followed by treatment with dilute acid yields Z.

Identify the structure of componds. X, Y and Z.

o Watch Video Solution



https://dl.doubtnut.com/l/_BVoRdata2mcA
https://dl.doubtnut.com/l/_u48G3ceaOgpi

6. A hydrocarbon A of the molecular formula CgHy,. On ozonolysis
gives only the compound B(C,HgO,). The compound B can also
be obtained from the alkyl bromide C(C3HsBr) upon treatment
with Mg in dry ether followed by the addition of CO, and
acidification. Identify A, B and C and also give equations for the

reactions.

o Watch Video Solution

7. An ester A(C4HgO,), on treatement with excess of methyl
magnesium bormide followed by acidification, gives an alcohol B as
the sole organic product. Alcohol B on oxidation with NaOCI
followed by acidification gives acetice acid. Deduce the structures of

A and B. Show the reactions involved.

o Watch Video Solution



https://dl.doubtnut.com/l/_5gvSTslruO0H
https://dl.doubtnut.com/l/_BCLYER0822qR
https://dl.doubtnut.com/l/_ZV10ItKcffHl

8. Cyclobutyl bromide on treatment with magnesium in dry ether
forms an organometallic compound (A). The organometallic
compound (A) reacts with ethanol to give an alcohol (B) after mild
acidification. Prolonged treatment of alcohol (B) with an equivalent
amount of HBr gives 1-bromo-1-methylcyclopentane ( C) Write the
structures of (A) and (B), and explain how (C) is obtained from

(B).

o Watch Video Solution

9. Identify Z + Y in the following synthetic scheme and write their
structures. Explain the formation of labelled formaldehyde
(H>C™*O) as one of the products when compound (Z) is treated
with HBr and subsequently ozonolysed. Take C'* as carbon in the

entire scheme.


https://dl.doubtnut.com/l/_ZV10ItKcffHl
https://dl.doubtnut.com/l/_igqIbipH8Twk

BaC*03 + H,SO, — X(C* = C')
(1) Mg, -ther LiAIH
~ B (i) V= @)
(iii) H;0®

° Watch Video Solution

Exercises Archives (Linked Comprehension)

1. In the following reaction sequence, products |, J, and L are formed.

K represents a reagent.

i) NaBH i .
Hex-3-ynal e > ] (I?Mg/elhbgj K
(i1) P Br, (i) CO,
(iif) H,0%

H

Cl Me
<— 2 — /
L< Pd/BaSO, quinoline \ON T

The structures of product [ is :

NN

2 Me Mo\
= B

r


https://dl.doubtnut.com/l/_igqIbipH8Twk
https://dl.doubtnut.com/l/_bdxRzJGnLWKy

Me -
/\/\/\ .
o Mg Brd \_—_/ "

The structures of compounds J and K, respectively, are :

Me .
a. COOH and SOCl,
=/
OH
b. v~ > > and SO,Cl,
O
Me
c. - COOH and SOCl,

Me COOH .
d. \__ E——/—— and CH,SO,Cl


https://dl.doubtnut.com/l/_bdxRzJGnLWKy

The structure of product L is :

Me CHO
a. \ _ /
_ CHO
b. Me—f—\—/
/\/\/\
c. M¢ CHO
NN
d.\jg~ >~ CHO

o Watch Video Solution



https://dl.doubtnut.com/l/_bdxRzJGnLWKy

